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1.

3.

4.

b dmend A A5 (Multiple regression) ¥ R T SR K 4 H ik Rk
(Dependent variable ) - % #ic(Independent variable) s} 5 ?

(A) &FHcfrp ¥ ﬁﬁ:?;’l &_FF 1% #(Discrete Variable)

(B) & %#frp % ﬁg:‘f‘;’i H i 4 % #c(Continuous Variable)

(C) xR AW erglc p RELAFRE

(D) % %A 2 ¥ hc > p ¥R e

B ALeniR i iF A 45 (Stepwise regression) ¥ 0 FR T e B P p Rk
(Independent variable ) =i & i35 ?

(A) R’

(B) F

© a

(D) o°

- e FlF R R #is 47 (Two-way ANOVA) ¢ 3R T 71 e —‘ﬁ L H RgE
( Dependent variable ) v p % #ic(Independent variable) er}4 B

(A) i %dcfrp % Hcgs A7 97 % #c(Discrete Variable)

(B) &% #frp % ﬁﬁ:?;’l ¥4 4 % #c(Continuous Variable)

(©) i SR F B § PR LT R

(D) i @i Fergdc p F#cld R

B >+ 3 {8 % % (Post Hoc Multiple Comparison Tests ) > 3 F T 7| i i+ & H i ¥ Fiw?
(A) Tt 3 F 5k (¢ test) FRIBFALLZ S MFREF

B) At ¥5% (ttest) T A FLE2 {5 ARFIRE
(C) ¥R #A~17 (ANOVA) #3BF LB 21 RFRET
(D) & %~ jF4 47 (Multiple regression) i $1& ¥ £ £ 2 18 > AR

%17 » &

|+
(2]
R



. R AE 5% % (Post Hoc Multiple Comparison Tests) ¥ » & % 2 4 #c# b PF > i
FEET TIPS R?

(A) Tukey

(B) Scheffe

(C) Newman-Keuls

(D) Fisher

— dgend A 4p B 4 47 (Canonical correlation analysis) » 1 & #3853 ¥ % #icenip B (%
o FR T A ﬁ e R

(A) & ¥ % fcgs g 4 % f(Continuous Variable)

(B) A ¥ % ficpn A %7 % #(Discrete Variable)

© - HPETdFRE 7 - HPRLTHRK

(D) - #RuLp B ¥ - FRELRREK

. Partial correlation #731 & * i2 32 ®?

(A) A W3- 5k fhcfe p R B A% Bz Bt A dp B

(B) ~u3 % - BRES - BREES = BRI FHINs Y

©) &= 2P FHELREDVTE B RREr ) R F Sip il

(D) s 235 5 = B REDPLE P E 5 - BREF - BRELF Sip il

. MANOVA i & #Fjcs #?

B p i
% % #
i B B % e
%R ¥

AN

(A) 7
B) 7
©) 7
D) 7

AN AN

AN

. Let X be a random variable. And, the p.m.f. of X is

f(x)=0.7(0.3"" , x=1,2,... .
Then, which of the followings is the variance of X ?

10
(A) =

3
(B) 29

10
© 25
(D) 0.7



10. Let X be a continuous random variable. And, the p.d.f. of X is

f(x):;yx%e_% . 0<x<o
r(4)2”
Which of the followings is the variance of X ?
(A) 25
(B) 10
© 5
5
D) =
(D) 5

FoMA EBHEEFHEILS X 204)
11,5 - 282 {2455} U is A% ? 2+ RgEEGS N FERBI- Bt o -
= . - X +X —
"R A (X, X,) 0 4 XZITZ CRIVX) =7
(A) 16.5
(B) 10.5
(©)5.5
D) 1.5
(E) 0.5

12~ BL308E p > RB A0’ (07 <o) i HP <] 5 on g 4 o 4%
ATIOE X o 1Y SRR Fn gt oo BT Ak P ¥ LAY
(A) * # & fie & PRIEN(O,D)
(B) * q?é"/w\ fie € 1T 023% N(u,0%)

(D) # + 0T Fade A feif 23 N(u,0?)

2

(B) & % B o feif i N(u,—)

13. 7 slscit e 5 TRy 9

(A) #WTHOECEFTFEFZEREEF > WREHHR 4en F=

(B) * M IO ] % I 3352 £ B £ EFH A TIOHH 4o 84

C) *HMIPEGHEFFIFLERgELFRA S P H v Fe

D) *WTOFELEFFEIF2Z LR ETF IR RERem g

B) *MIHECHERFRFZER§EFRFT LEHn FE
¥3F x5 F



14.

15.

Bk ML F s pe o TG MRR gL T hiE R G

(A) ¥zt FHIF L aB > PP RhiE g 20 R & F Eiha’

(B) #-i %3747 F FA 4 - B ¥ ea  PIF Sz R enEm § 20 kenF i@
\

C) % ZBRIEHEPRITAREF (bldod 2 7ci 27 ) FATE aiEs g K2 %
jL

(D) 7% one-way ANOVA ¢ > #%f? 4r » — i blocking variable {¢ > B F 33+ & ehig
e

(E) {7 one-way ANOVA = & i % & 3% Ejﬁ Gk FRZAANBRT FEF BRI R
¥ i¢ * Brown-Forsythe & Welch j* % i& {7 #& %_

FEE AR T BT - BRIk RIS T L D BRI E A G
Moo T A APl T odc s 38 H R ML 9o HH A P T oL 27 ¥
BHcE 160 - ARl E A2 ApM 5 0.6 Pl AR BE S 52

(A) 25

(B) 26.2

(C)32.2

(D) 39.4

(E) 86.4

B3 EAM (FHE2A 5 £204)

ST Al AR R A 0 R Aol

WA TR L

$8 %R | SS DF MS F p
@ jF @ 2 K ~ 007
AL 119.21 5 -

wqe 592.86

$=4883 | R>=z

(1) 7 =( )

(2) z=( )

(3)p=( )

(4) 7=« )

(5) *=( )

(6) = = ( )



St SR B X e Y 2 A AR s
f,y)=C(x*+y) x=12; y=012

(HCzigam? ( )
(2) FEptEEXY=2)5% 2 ( )
(3) EW=X+Y > RIW =35 5 0 2 ( )

S~ EEFGFLE G ISR H? I0FEF i1 TS ERE - F T R

FIFERR S kg £ X S5k E Y § adr1 ik B
X e hpfis P ASR? ( )
S WA I PEH (FIH104 5 £304)

7 ~Let X ; and Y, j=1, 2,3,4 be two independent random samples from the distribution

N(,ul, 012) and N(,uz,azz) , respectively. Suppose it is known that 0, =4, 0, =3 and

the observed values of the X5 and Y § are as follows.

x, =10.1, x, =8.4, x, =14.3, x, =11.7, =9.0, y, =8.2, y,=12.1, y, =10.3.
1 2 3 4 N Vs V3 Y4

Test the hypothesis H that the two means do not differ by more than 1 at level of

significance a =0.05.

~ Five resistance measurement are taken on two test pieces and the observed values (in

-4

ohms) are as follows.
x, =0.118, x, =0.125, x, =0.121, x, =0.117, x, =0.120,

y,=0.114, y, =0.115, y, =0.119, y, =0.120, y, =0.110

Make the appropriate assumptions and test the following hypothesis H, : 4, = /4, against
A:u#u, and H,:0" =0, against A, :0] #0, both at level of significance

a=0.05.

= ~ Suppose that certain particles are emitted by a radioactive source (whose strength remains
the same over a long period of time) according to a Poisson distribution with parameter &
during a unit of time. The source in question is observed for n time units, and let X be
the random variable denoting the number of times that no particles were emitted. Find the

maximum likelihood estimate of & in terms of X .

FH5F x5 F
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CERI(FAL22545 0 2 45 4)

GRS R X PRAF-HE AP TR B PRA DL E TR RGP
(A) 3krx-HAgume o) 3%

(B) #A* - HAine gviLp 3

(O 1 #- s &

(D) BIP *h & AR S gk d P B

%_FF ’I-‘ﬂ lfﬂﬁ‘l& ﬁ é’—"g Jf“ﬁ ‘f Fif]\ %Eﬁ ’ ]J4 lrﬁﬁk%ﬂm' -g’ﬂy‘ﬂ}i%- ’/;;‘_;r - ‘7
(A) A5 - HARuEe FvREp g
(B) 3+ - B AJui%é 3V p %

O 1 #- F FHAiem &
(D) BP * & A dgeh p 3

EREF ORI Ao RNKETERT FEFA Y T s 0@ 1% -
RES AFFH/RE é%Fva§%4+%$ml£{§ L @2

(A) 51 #R TR R PR L+ R ok

(B) Z#iF % fé"t"ﬂ_$2‘2‘"§ f@% e e 4 ""’TS ;&gmz\;iﬁ&g

(C) v %ﬁ;:':‘:%_ IIPE AN /F“ # %‘3 4 E’ﬂ%? W & &

D) =R FAEPP FRAALF G F - R

EREL  RT R ORKEFER FEP BT 0T 2R it -
REAAFEE  FRIHEENLE LR L P2

(A) BEEMBFES 2> FERBI FPF L RGP F R4

B) “TF #FEF MOTrs : AR 4~ R& fofkir i

(C) &8 2 2 R F R % §4§”¢f%$ﬁﬁ&mﬁrﬁ

(D) &Mz F o002 AU phEE (2 FREL G ApE B - R

AR KT RGBSR R R FEAEY AT O ik -

REA AL G T REDIRTE S WY
(A) BELBFE 2 REAET FnF 2 3R § hE R4

(B) b'L'r»}; _ﬁa%sxzagﬂ}; Fﬁgﬁ—fﬂF At %’K)ﬁ’:w;ﬁ%ﬁ A RE e iy
(C) LR 2 ML FRAAHE 4 FY G\rfnﬁcﬁi‘ﬂimﬁr”
(D) =R AR B> W2 HUApPE kM2 B F R AR g 3 - 2



. /_:L.FB F

. R T AR ) (take-home) E T AR g S 500
(A) R4 p|=

. R TRk E | (portfolios) E T v fEiEE S 509
(A) AL p|k

(B) -4 Pl

©) * #pl=

D) 1w Pl

s 7% (open-book ) H_Jf* T F|vR— fEEg S 3L 9

N
=g

T'F?‘;EF-—E_

PR T AR g & TR =E | (portfolios) ik ?
(A) #A4Z
B) T&
©) #Rr
D) 4

R T AR AR & T v | (performance) ik ?
(A) & Fg
B) T&
©) &M
D) i# &

R E SRR R AR T - AR U G e T

(A) F1& A~ 47

(B) w11
(C) 7 p A%

(D) v mp

F2F x5 F



13, 5 A B A T T AP ¥ 3 e B BAT?
m>wﬂ%ﬁmﬁ@%%mmnyﬁm@mwﬁﬁﬁifﬁkiéf
(B) Frat et B & B(A)L B and Mg 1 & e p F BB
(C) Frat et B & B A)2L B e S 5127 3 ik B
(D) @Bl B & BAREL) T S ARG HET 1 G 7 FEE oA RS 1k

4. R AT g A 1T > T AR A R AR ?
(A) S B & B L) 2 [F e UL JfJEes 5igh 2 2 i =
(B) i B & B(RL)L B M f 3B & it p F By
(C) ot B & 8L )L B i e Jf ) & bk S
(D) g Hend B & BFRL) T S AR ST 1 3 R s I Ry

15. & 7 f?;ﬁﬁx% FEREED WP 25 - IF m,i—inz::}% ?
(A) 3% P e
(B) #H P 5 chi +
(C) & ALHcET 5 %
D) ¥ 4 5

16. s iplErE > s o mp 25 - Rl A8 BT RRERT ),,pr,%z?
(A) )]M - RaELE R B M BT 5
(B) fjfaﬁ— Yo Bl B 7 5 S B RAE
©) 7&3— RO T S B LT
(D) f]ﬁ— BB TS B BT L

17 M40 2 RIBATY)E 6 % = S0 AR 2 BUF RLAA P AL TR
(A) B4 S ER

B) B Fae? FHPREIIHFER
g F’:}n BEER P S TR i
!

l \\\}{r \\\ﬁr

18. 7 7 |vR— fE %%~ 17808 &+ Kk & 47 = S8 2 105¢ (three-parameter testlet model,
3PTM) 2
(A) BILOG-MG
(B) MUTILOG
(C) CONQUEST
(D) SCORIGHT



19. T 5 fe 3 L3345 JEIL 3% (item response theory, IRT) & ip|%& & 47 + ehst e ?
(A) # B iplgk g =
(B) G Bas
(C) & EFAE B rasp i
(D) 7 fERREFAHE R H S R

~0

20. T 7| 4cit @ 'ﬁé‘i‘i— ,
(A) BIZF4 €4
B) % ?é{mﬁﬁﬁi
C) v L iplsREH
(D) Bl AL £

w4 A B

Hg AR ERE SREHER
PoREMHERIEVER LA
2T MR BRI ER 4R

ih‘ %% = m&x

47

S LERAR (FRESA X 2540)
5 53 =8 (dynamic assessment )
® 7 F& T4+ (scale uncertainty )
$R:# 32 & #f (local item dependence, LID )
E 43¢ F RIS AL (constructed response items, CR items )
Ty & 3K 3 (non-equivalent groups with anchor test design, NEAT)

AR S B

(

SOREH (FHI048 0 £ 304)
FARH T F o AU R Gy § T AT

S RRALF B

Paniy Lend e BFE4F B2 % (multidimensional item response theory, MIRT ) ~*

5 2 H % RFHF B¢ (unidimensional item response theory, UIRT ) /74 o3¢ o 2

¥R d e REBEF BEHEN > 285 2w B B8 ? @ logit #50

(multidimensional random coefficients multinomial logit model, MRCMLM ) ~ % = &

= % ## ;% (multidimensional two parameters model, M2PL ) ~ % & B = % #icfic ;¢

( multidimensional three parameters model, M3PL )o 12 & #-4 % % & B S48 % ¥ % 78 logit
#7 (MRCMLM ) -

5o RS Rl 388 A E.d Adams ~ Wilson ¥2 Wang (1997) % A #rdg ) >
MRCMLM % Rasch #55% 472 #0378 » .- B R & e co-efficients $-3]( mixed co-efficients
model ) 3F3E S8 H d KA Ioh el E Ty ik 0 @ Fi“j L H O > § - BT
eXp(blke +a,8)

Z exp(b;, 0 +a;,8)
k=1

P(X, =1;A,B,£|0) =

>

Xy = (X Xpron X ) 2 k=01 K, 0 X 54 F A

o

c?i‘

% = 1 > %A E kB F RIS
0 +H s
% 4F =5 7T



§ =508, "SR (pBS¥)-
0'=(0,.0,,...0,) : L@FF D4 v (DBwR)-
A= (2,88, ,8,,8,,. 8, 50, ) R RIBRGTEGHEL o

8, (= lonandk =1, K) 1 % %09 % kB R BEH AR B 5 B EER S
R

B=(B,,B),..,B))" : Bl gt sl o

B,=(b,.,b,,..b,) I % ifLntA FEE o

b, =y, byysnbyy) P EDBHREY o H T E S kBE R AR oo

MRCMLM #-5 gt > Pag * 3t HE p R - A3t fo b Bt 0 2 JEP > » Vi * 41

B (between-item) % o R RIS 7 2 4L (within-item) 7 & R RIS 71 ©

1.

2.

FR R PR S e REKN § e RPIR

- Rl B Ee R BRI AR ERFELEG A EL LB G

ap 0 00 b, by, 0
a -10 O b b 1
A= 12| _ o , B:[B;]= 12| _| "2t | , LFB’ 3 aﬂm§i*"?§§
a3 1-10 by by, 2
Ay —1-1-1 b, by, 3

FoORIAD FRIEA A A 0 DS C A HR e e s s B 4

A{a“}[o} : B:[Bf}{b“} F‘“ b“z} {0 0} SRR 00=[6.6)]
a, -1 b, by by 11

CER S SRR U



B4 @ &y~ F 100 & RF 7 “TARLITH 4 53
TR AL

R S L

$o 10 EREEL2A £ 308)

. - B3 "R DFHA > 5 A B0 WH e (head) frk = (tail ) o g» FHLZ] P > AT
ST e r o8 TR o kA THRERS TR ﬂlmfm )
PREEDFTRA G
(A) 4% ¢ 7] (Linked list)

(B) #= #F (Search Tree)
(C) a4 (Stack)
(D) =] (Queue)

2. Tl F L ¥ A B VA (network firewall ) £ i ?
(A) %4* #2358 312 (proxy)
(B) #t# 4 (packet encryption )
(C) 317 %8s (packet filtering )
(D) i 4> ;% iE )k (connection filtering )

3. #-8bit T4 11110000 £2 10101010 fF OR i & {5 5 % 1 10 & =%k 7 b 5 °
(A) 87
(B) FA
(C) 250
(D) 372

4, #-QiHcim 70K 22 8iE 11110 &% B 5 -
(A) 11000 (2 i& i)
(B)34 (8 i)
(C©)40 (10 &)
(D) 1A (16 i)

5. F Bt R4 (normalization) ehfy it > T 7@ —*‘Ffi FE ?
(A) % FAL# i 4t (primary key) #d ¥ - 1 (single attribute ) ot TR A
& A % = P 1Y (third normal form )
$1F 2147

&



10.

B) % FH A& @B &% =F2 41 (thirdnormal form) ¥ > p T4 27 it 5 30
/& i& ¥ (partial dependency )

(C) % Fi#4 ehi g (primary key) #_ % & 4 (composite key ) P > gt Tl & & 2 @
£ % - pFr H1v (second normal form )

D) 5 FH A2 @ &% - kR (secondnormal form) >yt FHL A 2 ¥ & 7 &

A% ik ¥ (transitive dependency)

3 M FE (database) ¢ % 5l4E (key) endFitfp it » 7 7@ —*‘Ffi 9
(A) % > (security)

(B) Bfﬁé 14 ( compactness )

(C) rit— % (uniqueness )

(D) ¥ i#+ (reversibility )

T A E A A e 250 % 5 (object-oriented programming language ) ?
(A)JAVA 3% 5

(B) COBOL # =

O C++ F3

D) C# F3

% & (height) % 5= # - < #f (complete binary tree ) 7 A i & 8 (node) ?
(A) 64
(B) 63
(©) 31
(D) 25

pE A (bit) kg oo T AleaRE T KR P R AL ?
(A) 2zt (main memory)

(B) 4% (magnetic disk )

(C) H-P~z=fat¥ (cache memory)

(D) ¥ ® (register)

Bk - B TR fd I E (browser) v i ~ http://www.moex.gov.tw > it
2% ENTER 4 o 11 T 7R3 #23% (protocol ) triz=k & f (request) » ¥ ix 7 € & * ?
(A) HTTP

(B) SMTP

(C) UDP

(D) 1P
F2F 02 14F



1. 7 7 e T M TR LA S IP e ?
(A) ~IZPRF%+ % (proxy server)
(B) #F WPRLE (web server)
(C) 4% LA FIRE (domain name server )
(D) #Ri2 PR % (mail server)
12. & @3 (graph) } wuF & A ;8 30F (depth-first search ) » 12T i@ —‘ﬁ BB
7

(A) 3] (queue)

(B) %8 7] (linked list)

(C) 3 dp (stack)

(D) = ~#% #t (binary search tree )

13. 123 + 4% -567* +89% - - 5 - B is A& %72 (Postfix) enE 4> H ¢ 5 Bz ‘%”3‘5—'\7@
o PEE S5 G
(A)2
(B) 6
(C) -2
(D) -48

14. F B SQL 38 At » T 5 im 44382
(A) SELECT DISTINCT Name FROM Customer > #{ {75 % % 45 173 7 I Name
(B) SELECT*FROM Customer WHERE City =~ #7# 3~ >3 72 % 535 4 CITY #
A ETAH ok g

(C) SELECT*FROM Customer WHERE ID > 10 ANDID <20 > # 7 % 5 35 1 ID #
10 320 ehF R

(D) SELECT*FROM Customer ORDER BY Name » 4 7 5% % 5 45 11975 % dk > ¥ 34t
R RE

15. % CPU =& & & & 5 400MIPS > R34 {7 - Bdp 4 hT IR G
(A) 0.25ns
(B) 2.5ns
(C) 4ns
(D) 250ns

$3F 2 U4FE
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16. 3B T PR Hrt i B e 9

Dim radius As Integer =0
Dim counter As Integer = 0
Dim sx, sy, offset As Integer
Dim pen As Pen

Dim g As Graphics

Private Sub tmrTimer_Tick(ByVal sender As System.Object, ByVal e As System.EventArgs)
Handles tmrTimer.Tick
Dim x, y As Integer
If radius > 0 Then
x = sx + radius * Math.Sin(36 * offset * Math.P1/ 180)
y = sy + radius * Math.Cos(36 * offset * Math.PI/ 180)
g.DrawLine(pen, sx, sy, X, y)

SX =X

Sy=Yy

offset += 1

radius -= 1
Else

Randomize()

radius = CInt(Rnd() * 100) + 20

sx = CInt(Rnd() * Me.Size.Width)

sy = CInt(Rnd() * Me.Size.Height)

Select Case radius Mod 5
Case O : pen.Color = Color.Blue
Case 1 : pen.Color = Color.Green
Case 2 : pen.Color = Color.Yellow
Case 3 : pen.Color = Color.Red
Case 4 : pen.Color = Color.White

End Select
offset =0
counter += 1

End If

If counter > 20 Then
$4F 0214 F



g.Clear(Color.Black)

counter =0
End If

End Sub

(A) wil§ 2% 7 > e nhFE
B) RiLT 2E¢ > Farni M
©) tAL® 2H Y » s I FIE
D) AT L2EY > TP aF 2 R

1742397 714250 - R AR Y § A2 T ST RS Student ?

Public Class Form1
Structure Student
Public id As Integer
Public name As String
Public mathGrade As Integer
Public englishGrade As Integer
End Structure
Dim std1, std2 As Student
Private Sub rdbChen_CheckedChanged(ByVal sender As System.Object, ByVal e As
System.EventArgs) Handles rdbChen.CheckedChanged
If rdbChen.Checked Then
txtID.Text = std1.id
txtName.Text = std1.name
txtMath.Text = std1.mathGrade
txtEnglish.Text = std1.englishGrade
End If
End Sub
Private Sub rdbChiang_CheckedChanged(ByVal sender As System.Object, ByVal e As
System.EventArgs) Handles rdbChiang.CheckedChanged
If rdbChiang.Checked Then
txtID.Text = std2.id
txtName.Text = std2.name
txtMath.Text = std2.mathGrade
txtEnglish.Text = std2.englishGrade

End If
50F =2 147F



End Sub
Private Sub Form1_Load(ByVal sender As System.Object, ByVal e As System.EventArgs)
Handles MyBase.LLoad
stdl.id=1
stdl.name = "Chen H. A."
std1.mathGrade = 78
std1.englishGrade = 65
std2.id =2
std2.name = "Chiang S. Y."
std2.mathGrade = 89
std2.englishGrade = 77
End Sub
End Class

(A) 8
(B) 6
©) 4
(D)2

18. 3B T AR Hrt i B e 9

Private Sub Button1_Click(ByVal sender As System.Object, ByVal e As System.EventArgs)
Handles Button1.Click
Dim strltem As String
txtDir.Text = formatDir(txtDir.Text)
Try
ChDir(txtDir. Text)
Catch ex As Exception
MsgBox("Error :  Directory doesn’t exist !")
End Try
IstFiles.Items.Clear()
stritem = Dir("*.*")
Do Until stritem = ""
IstFiles.Items.Add(strltem)
strltem = Dir()

Loop
¥6F 2 14F



IstDirs.Items.Clear()

strltem = Dir(txtDir.Text, vbDirectory)

Do While strltem <> ""
If (GetAttr(txtDir. Text & strltem) And vbDirectory) = vbDirectory
Then IstDirs.Items.Add(strltem)
End If
stritem = Dir()

Loop

End Sub

(A) #1% P &0 ik fo+ P &
(B) %77 P 47 chfh % o3 P &
©) #1'% Bth R o e &
(D) = 37H % foiTh &

19. 4395 ™ 5425 » 3B Button2 34 i 5 @ ?

Public Class Form1
Private Sub Button1_Click(ByVal sender As System.Object, ByVal e As
System.EventArgs) Handles Button1.Click
Dim pos As Integer
pos = SearchText(txtInput.Text, txtSearch.Text, 1)
If pos > 0 Then
txtInput.SelectionStart = pos - 1
txtlnput.SelectionLength = Len(txtSearch.Text)
txtInput.Focus()
End If
End Sub
Private Sub Button2_Click(ByVal sender As System.Object, ByVal e As
System.EventArgs) Handles Button2.Click
txtlnput. Text = ReplaceText(txtInput. Text, txtInput.SelectedText, txtReplace.Text)
txtInput.SelectionStart = Len(txtInput.Text)
txtInput.SelectionLength = 0
txtInput.Focus()
End Sub

End Class
5T7TF =14 F



(A) % txtlnput.Text » » #%F txtlnput.SelectedText » * txtReplace.Text B~ &
(B) % txtlnput.Text * - 3## txtlnput.SelectedText » ¥ i3 txtInput.SelectionStart
(C) % txtlnput.Text ¥ - #%F txtlnput.SelectedText » & w txtInput.SelectionStart
(D) % txtInput.Text ¥ - #&F txtlnput.SelectedText » & # txtlnput.Text

20. 1345 T #4258 0 R Button2 th#t i i e 2
Public Class Form1
Private Sub Button1_Click(ByVal sender As System.Object, ByVal e As
System.EventArgs) Handles Button1.Click
Dim index As Integer
Dim name As String
index = ItbSource.SelectedIndex
If index <> -1 Then
name = ItbSource.Items(index)
clbTarget.Items.Add(name)
ItbSource.Items.Remove(name)
End If
End Sub
Private Sub Button2_Click(ByVal sender As System.Object, ByVal e As
System.EventArgs) Handles Button2.Click
Dim item As String
Dim i As Integer
For Each item In clbTarget.CheckedItems
ItbSource.Items.Add(item)
Next
For 1 = clbTarget.Items.Count - 1 To O Step -1
If clbTarget.GetltemChecked(i) Then
clbTarget.Items.RemoveAt(i)
End If
Next i
End Sub
Private Sub Form1_Load(ByVal sender As Object, ByVal e As System.EventArgs)
Handles Me.Load
clbTarget.CheckOnClick = True
End Sub

End Class
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(C) #-% clbTarget.Items » > 2> 3¥Revitem » 4% # I 1tbSource.Items p

(D) #-% 1tbSource.Items ¥ > > 3FRehitem ° 4% # I clbTarget.Items p
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System.Windows.Forms.CheckedListBox
Name clbTarget
Anchor Top, Left
ColumnWidth 0

Items Collection
Location 232,16
Margin 4,4,4,4
Size 137, 157
(A) + 7l
(B) =l

(O

D) &=
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System.Windows.Forms.CheckedListBox
Name clbTarget
Anchor Top, Left
ColumnWidth 0

Items Collection
Location 232,16
Margin 4,4, 4, 4
Size 137,157
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24.

(A) =i
B) B&t it
©) B
(D) = p
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System.Windows.Forms.Button

Name Bottonl
Anchor Top, Left
BackColor Control
ForeColor ControlText
Font Microsoft Sans Serif, 7.8pt
Image none
Text >>

(A) Fe4=

B) = 3l

(C)>>

(D) Buttonl

PO A e 0 SR T B R 5 e 9

System.Windows.Forms.Label

Name 1blOutput
AllowDrop False
AutoSize False
Locked False
Enabled True
Visible False
(A) Fw

(B) 4 2

(C) # i+

(D) &
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System.Windows.Forms.TextBox
Name txtInput
AutoSize False
MaxLength 10
Cursor IBeam
PasswordChar *
ReadOnly False
TablIndex 11

(A) 5

(B) %4

(C) &2

D) £%

26. 345 P14 A 0 R BN R T A 2

member list

End Enum

[ <attribute list> ] [ access modifier ]| [ Shadows ]

Enum enumeration name [ As data type ]

attribute list

Optional. List of attributes that apply to this enumeration. You

must enclose the Attribute List in angle brackets ("<" and ">").

access modifier

Optional. Specifies what code can access this enumeration. Can be

one of the following:

. Public

. Protected
. Friend

. Private

You can specify Protected Friend to allow access from code within

the enumeration's class, a derived class, or the same assembly.

Shadows

Optional. Specifies that this enumeration redeclares and hides an
identically named programming element, or set of overloaded
elements, in a base class. You can specify Shadows only on the

enumeration itself, not on any of its members.
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enumeration name Required. Name of the enumeration. For information on valid

names, see Declared Element Names.

data type Required if Option Strict is On. Data type of the enumeration and

all its members.

member list Required. List of member constants being declared in this
statement. Multiple members appear on individual source code
lines.

Each member has the following syntax and parts: [<attribute list>]

member name [ = initializer |

Part Description

member name |Required. Name of this member.

initializer Optional. Expression that is evaluated at compile

time and assigned to this member.

End Enum Terminates the Enum block.

(A) Enum #2438 ehz £ 2 54
(B) FIEA| Ny £ 5 5
(C) #= | i ¥ ehpsi 5t

(D) FHA sz 2+ 5

27 41T A A 0 R BAS =

\ Operator

expressionl \ expression2

expressionl Required. Any numeric expression.
expression2 Required. Any numeric expression.

The result is the integer quotient of expressionl divided by expression2, which discards any

remainder and retains only the integer portion. This is known as truncation.

(A) 0
B) 1
(©)2
(D) 3
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<script runat="server">
Protected Sub Page_Load(ByVal sender As Object, ByVal e As System.EventArgs)
If Not IsPostBack Then
Dim h, w As Double
Dim txt As TextBox
txt = PreviousPage.FindControl("txtWeight")
w = CDbl(txt.Text)
txt = PreviousPage.FindControl("txtHeight")
h = CDbl(txt.Text)
IblOutput.Text = "BMI:" & (w / h / h)
End If
End Sub
</script>

(A)S
(B) 4
©)3
D)2

29. 44 & & Button ot Bl & o HF BZER LT AR —‘ﬁ ?
(A) Image
(B) Show
(C) Draw
(D) Paint

30. 145 T A PR AR —‘ﬁ B i & InputBox =t iy & * i 9

[HostProtectionAttribute(SecurityAction.LinkDemand, Resources =
HostProtectionResource.UI)]
public static string InputBox(

string Prompt,

string Title,

string DefaultResponse,

int XPos,

int YPos
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Prompt

Type:System.String
Required String expression displayed as the message in the dialog
box. The maximum length of Prompt is approximately 1024

characters, depending on the width of the characters used.

Title Type: System.String
Optional. String expression displayed in the title bar of the dialog
box. If you omit 7itle, the application name is placed in the title
bar.

DefaultResponse Type: System.String
Optional. String expression displayed in the text box as the default
response if no other input is provided. If you omit
DefaultResponse, the displayed text box is empty.

XPos Type: System.Int32
Optional. Numeric expression that specifies, in twips, the distance
of the left edge of the dialog box from the left edge of the screen.
If you omit XPos, the dialog box is centered horizontally.

YPos Type: System.Int32

Optional. Numeric expression that specifies, in twips, the distance
of the upper edge of the dialog box from the top of the screen. If
you omit YPos, the dialog box is positioned vertically

approximately one-third of the way down the screen.

(A) fr2 F = BUT 02
(B) 4o # 47 i

(C) 7 1w i K B g

(D) 7 vl dw L

L REH(5-3104 > K154 > X 2548)
- ~FEFEFE N A+B-EX¥(D+C))2 = LM ¥ # L 5 B ;% (prefix expression) e

- s E2 BTG L ¥ P 2 DSP,SQL, XML, CCD
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